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Intro

Today we will 7"pa learn 7" 97 of R1p X221 nooN
Some of the topics we will learn about include.

£R)
! WNINWY DOTY
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If two witnesses testified in Bais Din that someone killed ]’31 n J

aperson, and he was sentenced to 1

A second set of 07v were then wnon, contradicted, the
first set, and testified that the person did not kill anyone;
Afterward, a third set of ©7v testified that the first o7
were PN

Rava rules that the first ©7p are nn°» 27n through the . n ‘ , Dn
Their m7y is not considered >v3, disqualified, through the
TN N2NN

earlier nwnon, because

ahisnbabisiskivaey

The nwnon is considered the beginning of the ot ’
process. R n

PYI 102 RIP

DINN JPRY OI3IR "WRT
‘ An 115 72 becomes free if his owner removes his tooth,
blinds his eye, or inflicts permanent damage to the end of

his limb. ]’l’] ]w: Rg]’
DY2R YORM
071N JORWY

In acase of

172 PY DR RO

W AR YoM

If two o7y testified that someone first blinded his 7ap

»1p13, and then also removed his tooth, the 72 becomes 17:» ’y n N RD’ D
free for the eye, and the owner pays the 7av for his tooth.

And in the case of

11°W NR "D

1Y IR RXDO)

If the o7p testified vice versa, that he first removed the

72V's tooth, and then the eye, the 72 becomes free
because of the tooth, and the owner pays the 72 for his

172Y |® NR 95N
12°Y NIXR RN

)
Yecheskel
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So let'sreview ...

The Sugya of &1 Mot n>’nn mwnon begins in the previous
Daf.

R17 DN

MNP0 WY DTV

A

If two witnesses testified in Bais Din that someone killed
a person, and he was sentenced to nn’»;

Then, a second set of 7Y were wnon, contradicted, the
first set, and testified that the person did not kill anyone;
Afterward, a third set of &7y testified that the first o7
were P

Rava rules that the first o7p are nn”» 27 through the 717.
Their m7v is not considered 503, disqualified, through the
earlier nwnon, because

Nahisnbabisiskaizaey

The nwnon is considered the beginning of the m1h
process.

X117 seeks to support this Halachah from the following
Braisa:

The xw states;

M9 WRINTYN

W NR YoM 7Y 7V IR ROV

PRIIINIDI D AVIN 297 W

If two o7y testified that someone first blinded his 72
»1v13, and then also removed his tooth; in which the 72p
becomes free for the v, the eye, and the owner pays the
72 the smaller sum of his tooth;

And then the o7 became pnw;

7205 PY W7 pSwn

The o7y must pay the 72 the value of his eye - actually,
the difference between the higher value of the eye and the
lower value of the tooth - for the loss they wanted to cause
him.

DafHachaim.org

£P) Wt
M PNO2 VNIINY DTY
1P2m

1 2 3
Two witnesses A second set of A third set
testified DTD were windn of o1
that someone the first set, then
killed a person, and testified testified
and he was that the person that the
sentenced to did not kill firstorTy
N anyone; were ppmT

The first 1o are NN N through the NHTN.
Their mT is not considered b2 through the earlier nwnon,
because
NN NNTN DONN MWNONT

The nwndn is considered the beginning of the nnta process.

NI
v

£
179D WIRA NTHIN
11 NR 20M 172 PY NXR RNIDOW
PHPPIT IR 19 MR 290 INWY

Iftwo D7 testified that someone blinded his 2> T2v,
and then later removed his tooth;
in which the 12v becomes free for the py, the eye
and the owner pays the T2v the smaller sum of his tooth;

And then the DTV became poir;
T2YY Y MT PNOYN

The D1y must pay the 12v the value of his eye
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And the o0 states;

M5 WR DR ITYD

1Y DR RDOIITIY O DR Yonw

PROITIRINI 1D IR TV W

If the o>7p testified vice versa, that he first removed the
72V's tooth, and then the eye; in which the 72» becomes
free because of jv, the tooth, and the owner pays the 72
the larger sum of his eye;

And then the o7 became pow;

275 Py »T pdwn

The 07y must pay the owner the higher value of the 72v’s
eye, for the loss they attempted to cause him

The Gemara asks that the Mishnah certainly cannot mean
that there was no other o7 who testified about this
incident, because

5w pa1197 720 91 1T

In both the Xv1 and Xo°© the 07y should pay the owner
the value of the entire 72y, which is the loss the attempted
to cause him by having to set the 72 free based on their
false testimony?

DafHachaim.org

Loo
MOD WIR NXR NTIN
1% NXR RNY0) 172Y |® NR PDHW
PPPIT IR 1D MR T2V MNW

If the pr1y testified vice versa,
that he first removed the T2v’s tooth, and then the eye
in which the 12 becomes free because of 1w, the tooth,
and the owner pays the 12 the larger sum of his eye;

And then the DYTD became PDDIT

279 1Y M7 PO O
The v must pay the owner the higher value of the T2p’s
eye, for the loss they attempted to cause him

2

The Gemara asky. . .
The Mishnah certainly cannot mean that there was
no other o1y who testified about this incident, because

MHWY 22 299 TAY NN MT

In both the Nwm and N®D the DTV should pay the owner
the value of the entire TaD,

which is the loss the attempted to cause him by having to
set the T2 free based on their false testimony?
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Therefore, X171 explains

mmro whwa

The Braisa refers to three sets of o7y:

And in the X, it was as follows:

1.

At first

IR N T IOR

W NR o0

1Y DR RO

One set of 07 testified that he first removed the tooth and
then the eye;

WY DT MO N VAT

The 72 becomes free for the tooth, and the owner must
pay the 72p the larger sum of his eye.

2.

Then

W ITINIPY IORIRYRN N 2 INNI

A second set of 07v testified vice versa, first the eye, and
then the tooth; and

1IN 27 W

W T ROR 5 anh wa ’ST

The owner pays only the smaller sum of the tooth, which
benefits the owner.

3,

Afterward

I IRIDN

A third set of o7 testified that the SECOND set were
PR DY,

In this case;

7205 PY 0T Prdwn

The second o7y must pay the 72p the larger sum of his eye
which he would have lost through their m7y.

And as the Gemara concludes;

In the w7 there is no proof for i N> nn nwnon even
though the second o7 were contradicted by the first o7
before they became i through the third 07, because
T WAINN RS ORYID

30 DR 5232 W7

This is not considered a 7wnon, because the smaller sum of
1w 17 in the second m7v is included in the larger sum of
1Y 17 in the first m7Y, and the first ©7v agree that he is
obligated, at least, the smaller sum of jw *»7; and that
would be the Psak of Beis Din at this point.

DafHachaim.org

&

£ epplainy
mn’ wHwa
The Braisa re%m/ ty three sety o% V54

3 2 1

IRXDN N 21NN NN N IR
PPNt INNR INRYIND 11°W NXR 0N
A third set of DYTD 1MW TN 1YY 1% NR RN
testified that the A second set of DYTD One set of DTV

SECOND setwere  testified viceversa, first testified that he first
PODOIT DYTD. the eye, and then the removed the tooth

PV DT ]’DbWD tooth; and and then the eye;
D 1w waT
12D T 2N

T2V 12 IR 27 DY

Thesecond DTV 27N w2 NOT
mustpaythe T2 13w T RON D TheTav becomes free

the larger sumof  The owner pays only the for the tooth,
hiseyewhichhe  gmaller sum of the tooth, ~ and the owner must

would have lost which benefits the pay the T2 the larger
through their MTY. owner. sum of his eye.

a

There is no proof for NPTN NONN NWNIN even though
the second p1v were contradicted by the first b1y
before they became pomir through the third DTy, because

7D YVNONN XY INYIND
NIN DXNRN HHI2 WOT
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However, in the Xo'0, which is also a case of M wHw,
there is proof for

AP NN WNIN

1.

At first

ORI IN NN

1Y RYOINPY DR Y01

19 IR TV W

One set of 07y testified, that it was the tooth first, and then
the eye, and Bais Din ruled that the owner must pay the
72y the larger sum of his eye, which benefits the 72y. Then
MHRIPINR N 2 INR

W DR D97 1D DR RO

A second set of 07v testified vice versa, first the eye, and
then the tooth;

IRDP 3D 112 WD RpPT

In this case, the first m7y for the larger sum of Py '»7 were
contradicted by the second M7y for the smaller sum of 17
10, because they do not agree with the first set, and the
Psak would be lower like the second mTy.

Afterward

PRI IR

A third set of 07v testified that the FIRST set were o7y
oo

275 Py 1T PbUn RO

The first o7 must pay the owner for the eye that he
would have paid through their mTy.

And even though

RIPYP I WNINN R

The first o7v were contradicted by the second o7y,
before they became pnmit through the third o7y, and
nevertheless they pay?

It must be

rn YNY

RTINS M0 Awnon

Dedicated By:
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%)

there is proof for
TN NYNN AWNON

3 p) 1

INRNDN 9N 722 INR NN N 22 IR
PPNIT IR MMINR 11°W NX 975N
A third set of 12°Y NR RNO 1% RN
DT testified that 1MW NR YoM T2YN "NV
the first set were A second set of DYTD 1P MR

P):])’;JJIYZJ))TDD;.I[;;D - testified vice versa, first DD testify that
) theeye, and then the tooth; it 1vas the tooth first,
DO PpYWT b wndn RpT
The first VTV INDp 1 b) and Bais Din ruled
must pay the In this case, the first TV that the owner must
for the larger sum of "7  pay the T2V the larger
]V were contradicted by  sumof his eye, which
the second MTD for the benefits the T2D.
smaller sum of |0 0T,

and then the eye,

owner for the eye
that he would
have paid
through their
M. and the Psak would be
lower like the second mTy.

And even though
NIPYD 105 IWNONN RN
The first Ty were contradicted by the second D11y,
before they became pooir through the third b1,
and nevertheless they pay?

It must be
nN1’N YNW
NN NTH NYNN AWNON
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»ax disagrees and says there is no proof. Perhaps, the
Braisa holds

RTINSO IN RS Wnon

And therefore

N PO WNIW DTV

PAIMIPR

And the x9'0 does not refer to min' wHw, three sets of 07,
in which there was nwnon, but rather the o0 is a case of
mno 1w, two sets of 077y,

T 7001

As follows;

First

MIBRI 1IN 22NN

WY RIOVIPW DR 0N

19 IR TV W

One set of 07v testified, that first it was the tooth, and then
it was the eye, which benefits the 72v. Then

INPHIRT IPIOR RPT

The second set testified that the first set were w07,
and also that the incident was vice versa, first the eye and
then the tooth;

275 Py 0T PRSOn RDP

The first o7v must reimburse the owner for the eye that he
would have paid through their m7y, because the wnon
was not before the nni, but afterward.

And the Gemara continues to explain;

'RIND I IDITR DTPO RPT

Only if the second o7y claimed that the incident occurred
before the first o7y testified, AND

P72 TOYT

When the first o7y testified the owner was already
obligated to free the 72v by a previous Bais Din;

In this case, the ypo1 7Y pay the owner only for the loss
of Py »7 but not for the whole 72, because their m7y did
not cause him this loss, as he was already obligated to set
his 72 free before they testified.

However,

'RIND I 7INNR INRD RPTOR

If the second M7y claimed that the incident occurred only
after the first o7 testified;

OR

P72V RS

When the first o7p testified the owner was not yet
obligated to free him;

WISV Y1275 72 DT

The prin 07v must pay the owner for the whole 72, even
though he was eventually obligated to set his servant free,
because

x5 Y2 07

RI7 RIPA 72 IR R OTOR

They caused him this loss, since at the time of their
testimony the owner was not yet obligated to set the 72
free.

DafHachaim.org

a

NN disagrees and says there is no proof.
Perhaps, the Braisa holds

RN NNTN NYNN IR HVWNON
And therefore

DTN D25 WNINY DTV
PAINI PN
And the tovo Rather the oo
/owmz‘re%w v wamof
mno whw NND Y

v

AT 902

2 1

19BR RPN DR N IR
1NN 170 NX 979N
The second set testified 127 RPN
that the first set P IR TAYN MINWY

were PODIT DT, One set of DYTD testified,

and also that the incident that first it was the tooth

was vice versa, first the eye and then it was the eye '
and then the tooth which benefits the TD.

299 PY DT PROYWN RNP
The first 1Y must reimburse the owner for the eye
that he would have paid through their mTp,
because the nwnaon was not before the nota, but afterward.

MINRD RPTOIR - MTP MTPN RPT
RIN2 1N MNMNR RN 71N
If the second mTv claimed  The second DYTY claimed
the incident occurred after  thqt the incident occurred
the first o1y testified; OR before the first DYTD
T2 TOY RO testified, AND
When the first o1 P72 THYVT
testified the owner was  \When the first 1o testified
the owner was already

not yet obligated to free
him; obligated to free the T2D by

The POPIT DTV must pay
the owner for the whole
T2, because they caused
him this loss, since at their
testimony the owner was
not yet obligated to set the
72D free.

a previous Bais Din;

In this case, the PPDIT DT
pay the owner only for the
loss of pY "M but not for
the whole 72D, because
their m7y did not cause
him this loss.
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The Gemara now seeks to bring proof for n">’nn nwnon
1 from our Mishnah's first case

oo Sy 7911 mav 0w 0 Y an

PRI RPN

5o pbwn

If the same two 077Y testified to the 72’3 and the nav and
they were found to be P 07, they must pay the
complete M7’ to the accused.

The Gemara assumes that the Mishnah refers to
R0 5 YT

aaon Sy 1TYmImm

The o7y first testified about the 12°33 and then about rav
separately;

720305 mum

a0 SV M M

And then they first became pi»i on the 712133, and
afterward on the nrav;

And even though

720307 5Y WU 0

PRI N N a0 25

The i for the na7ax also serves as a nwnon for the nrmav,
because

723 PR ORWY

7700 PRI AL PR

Nevertheless

551 IR prbwn

The o7v also pay the accused for the rav.

It must be because

RT3 TIT Y MN WNon R

The Gemara says that this is not necessarily so. Perhaps,
the Mishnah refers to

12NN A2 5Y NI 0

They first became P on the 720, and afterward on the
121, and therefore

5on iR 1D pbwn

The o7y also pay for the nav, because the mwnon was not
before the i, but afterward.

The following Mishnah is reviewed in the next Daf.

DafHachaim.org

v
D1°D Y 75”I N2VI 07IW D HY 213
TNIT IR
950 PPHWN
Ifthe same two DT testified to the N2 and NMID

and they were found to be PDIT DTV,
they must pay the complete M T to the accused.

ITVM 1T
nNMvVN Y

1TVNT
N2°220 Yy

MM 1T
nNMvVN HY

MM
N2°20 Yy

122220 Sy wNAW N>
PwNoM b mn nmaw 1225

The ot for the N2 also serves as a nwnan for the nmav,
because

11721 PN NP2D PN 12222 PN DRY

Nevertheless

5on NN b pobwp
The o1 also pay the accused for the nmaw.
It must be because

RN ANTN NYNN AWNON N7Y

N

Perhaps, the Mishnah refers to

NDMN NN DY IDTINY Ad

They first became ppmir on the nmav,
and afterward on the n23,

Therefore
55n PR b podWD

The p1v also pay for the nmav,
because the nwnon was not before the npty,
but afterward.
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